
200 EXC SGP GS 2002 <2002><ASIA><727020>
LUBRICATING SYSTEM

272

Pos Part Number Description Additional Text Quantity

16 52338001000 OIL PUMP WHEEL 21-T 1.00

17 52338070010 OIL PUMP GASKET '99 1.00

18* 52338070000 OIL PUMP 200 EGS SINGAPORE'99 1.00

19 0015050123 HH COLLAR SCREW M 5X12 WS=8 2.00

20 52338074000 OIL PUMP COVER CPL. '99 1.00

21 52338071000 PASSPORT SOCKET D=12,3X34 '99 2.00

22 52338073000 COVER OIL PUMP '99 1.00

23 52338072000 * THREADED BUSH L=12MM WS=8 ' 1.00

25 52338075000 RUBBER SLEEVE 5X7X3 1.00

26 31008060000 rubber grommet D=8mm open 1.00

27 58007016001 FUEL HOSE VITON 7X2MM 1 METER 0.50

39 0015050303 HH COLLAR SCREW M 5X30 WS=8 1.00

53 50308053000 BUSH FOR SPOILER 6X11X16X7,5 1.00

61 0015060203 HH COLLAR SCREW M 6X20 WS=8 2.00

65* 51207000270 PCV HOSE 3X6X270 1.00

93 52338061050 HOSE CONNECTION FOR OILTANK 1.00

94 55003139600 BLIND RIVET NUT M 6X15,5 STEEL 1.00

96 50335096000 TANK ADAPTER BUSH '98 1.00

97 0014060203 HH COLLAR SCREW M 6X20 WS=8 1.00

98 52338061000 ADDITIONAL TANK R/S 125-380'99 1.00

99 49138491044 OIL TANK CAP 1.00
* = New part


